1. What is the rem

‘ ainder when (1729 + 1929] 18
divided by 18 9

(a) 6
oA
(b) 2
(c) 1
B 0

2. © What 1s- the largest value of n such that 10™
divides the product
25 % 33 % 48 % 53 % 67 x 76 x 812 » 99 x
10% x 1512 x 2014 x 2211 x 2516 9
- (a) 65
~ (b) 55
() 50
(d) 45

8. How many pairs (A, B) are possible in the
number 479865AB if the number is divisible
by 9 and it is given that the last digit of the

number is odd ?

@ 5
(b) 6 )
() 9
d 11

" DFGT-T-HTM

(3-A)

Consider the multiplication 999 x abe = def132
in decimal notation, where a, b, ¢, d, e and f
are digits. What are the values of a, b, ¢, d, e

and f respectively ?
(a) 6,6,8,6,8,7
(b) 8,6,8,6,7,8
(¢) 6,8,817,8,6

(dr 8,6,8,8,6,7

Three cars A, B and C started from a point at
5 pm., 6 pm. and.7 p.m. respectively and
travelled at uniform speeds of 60 km/hr,
80 km/hr and x km/hr respectively in the same

direction. If all the three met at another point

at the same instant during th.eir journey, then

what is the value of x ?

(a) 120
(b) 110
() 105
(CB 100

Priya’s'_age ‘was cube of an integral number
(different fr:;m 1) four years ago and square of
an -integral number after four years. How long
should she wait so that her age becomes

square of a number in the previous year and

cube of a number in the next year ?
(a). 7 years |

(b) 12 yealrs

(c) 14 yéars

(d) 21 years

Scanned by CamScanner



7.  Which of the following statements is not |-

true ?

(a) The difference of two prime numbers,
both greater than 2, is divisible by 2.
(b) For two different integers m, n and a

prime number p, if p divides the product
m X n, then p divides either m or n.

(¢) If a number is of the form 6n -1
(n being a natural number), then it is a

prime number.

A e e
i F |.-F.
.

(d) There vis only one set of three prime
- numbers such that there is a gap of 2

between two adjacent prime numbers.

8. For x > 0, what is the minimum value of

- X +2 ?
2x
(a) 1
(b) 2
1
9=
(c) 9

(d)~ Cannot be determined

9. If L+px l—qx = 1, then what are the
1-px {1+gx | -

non-zero solutions of x 7

(a) - lgzp_q,.?p#q
Py q

(b) ié\/p-q,piq

(c) i%\/p—q,p#q

d) = g,ﬂp—' 2p#q

DFGT-T-HTM

(5-A)

In a hostel the rent per room 18 increased by
20%. If number of rooms in the hostel is also
increased by 20% and the hostel is always full,
then what is the percentage change in the
total collection at the cash counter ?

(a) 30%
b)  40%
(©” 44%
@ 48%

Radha and Hema are neighbours and study in
the same school. Both of them use bicycles to
go to the school. Radha’s speed is 8 km/hr
ﬁhereas Hema’s speed is 10 km/hr. Hema

takes Q'm'mutfas less than Radha to reach the

school. How far is the school from the locality

of Radha and Hema ?

(a) bHkm

(b) 55km

(c) 6km

(d) 6:5km _ ‘

" Which of the following pair of numbers is the

solution of the equation 3**% +3*=10 ?

(a) 0,2
(b~ 0,-2
) 1,-1
d 1,2
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13. It is given that log,, 2 = 0-301 and|Consider the following for the next three (03)
log;, 3 = 0:477. How many digits are there in |items :
(108)1° 2 In a certain town of population size 1,00,000
three types of newspapers (I, II and III) are
(@) 19 available. The percentages of the people in the town
who read these papers are as follows :
(b) 20
Newspaper Proportion of
(c) 21 readers
I 10% \
d) 29 I 30% |
. 111 5%
Both I and 11 8%
_ i h , Both II and III A%
14. The sum of three prime numbers is 100. If one Both I and I1I 2% |
of them exceeds another by 36, then one of the | . All the three
. . 1%
_ (I, IT-and IIT)
numbers is
, @ I 16. What 1s thel number of people who read only
| one newspaper ? -
b 29 A
(2= 220,000
(c) 43 (b) 25,000
a7 ]'j (¢) - 30,000
d) None of the above |
(d) . (d) 35,000
LY 17. What is the number of people who read at
15. If a, b and ¢ are positive integers such that .
- least two newspapers ?
1 _ 6 then what is the mean of 2
L 1 - 93’ (a) 12,000
b 1- (b) 13,000
C+ § (c) 14,000
a,bandc? W) 15,000
(a) 1 18. What is the number of people who do not read
any of these three newspapers ?
. 2 ;
(b) (a) 62,000
(¢) 1-33 . (b) 64,000
. (c) 66,000
Q&6 (d) 68,000
DFGT-T-HTM (7-A)
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22,

21.

19.
of 773 ?

(a) 1
(b) 3

(T
@ 9

20.

(n2 + 48) is a perfect square. What is the
number of such n ?

(_ a) One
‘)] Two
(c)

(d)

Three

Four

4./6
For x = , what is th
/2 + \/5 18 e value of

1{+2\/§ I x+2-.f§ .y
x—2J2 x-2J3

(a) 1

V2

V3
d) 2

(b)

(c)

x, y and z are three numbers such that x is
30% of z and y is 40% of z. If x is p% of y, then
what is the value of p ? '

(a)
(b)
fc) 65

& 75

45

99

What 1s the unit place digit in the expansion

25.

26.

(9-A)

23.

(a)

A plane is going in circles around an airport.
The plane takes 3 minutes to complete one
round. The angle of elevation of the plane from
a point P on the ground at time t seconds 18
equal to that at time (t + 30) geconds. At time
(t + x) seconds, the plane flies vertically above
the point P. What is x equal to ?

75 seconds

(b) 90 seconds

(¢) 105 seconds

(d) _1135 seconds

Consider the following statements in respect
of two integers p and q (both > 1) which are
relatively prime :

1. Both p and q may be prime numbers.
2.- Both p and q may be composite
numbers.

3. One of p and q may be prime and the

other composite.
Which of the above statements are correct ?

(a). 1 and 2 only
(b) 2 and 3 only
() 1and 3 only
(d 1,2and3

In a class of 100 students, the average weight
1s 30 kg. If the average weight of the girls is
24 kg and that of the boys is 32 kg, then what
is the number of girls in the class ?

(@~ 25
(b) 26
(c) 27
(d) 28

For any two real numbers a and b,
Ja-b2 + Jb-a)? is

(a¥” always zero

(b) never zero
(¢) positive onlyifa#b
(d) positive if and only ifa >b
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27.

EE+{:2

b2 +d2

?

1

{ﬂ} m

1

b 2
(b) 50

1
&~ 26

(b) 8-:00 kmph
@ () 780 kmph
(d) 7-77 kmph
. s 053 + 053 ‘equal to ? -
28 What is 053 + 0:53 equal to 32. If 2> = B - L , then which one of
— b+ec c¢c+a a+b
(a) 1068 ; - .
L the following statements is correct ?
(b) 1:068 . (a) Each fraction is equal to 1 or —1.
| (c) - 1068 - (b) Each fraction is equal to % or 1.
- (d) 1068 ~ e kS 1
' 7 {c) Each fraction is equal to 5 or —1.
' : | . N 3 . ,
29. The mequahtjf 3" > N* holds when g‘d,)/ Each fraction is etlual to % only.
(a) N is any natural number ' '
(b) N is a natural number greater than 2  [33. The number 3°?! is divided by 8. What is the
inder ?
(¢) N isanatural number greater than 3 ?E;Ilﬂll; =
(4 N is a natural number except 3 b) 3
() 7
80. Which one of the following is an irrational @ 9
number ?
34. A prime number contains the digit X at unit’,
V59049
(a) ‘ place. How many such digits of X ar
231 ossible ?
b 222 d
593 (a) -3
(c) 0-45454545...... (b) 4
(¢) 5
(d) 0-12112211122211112222.......
_ (d) 6
DFGT-T-HTM (11-A)

If a:b=c:d=1:6, then what is the value of

31. A race has three parts. The speed and time
required to complete the individual parts for a
runner is displayed on the following chart :

]
Part I | Part II | Part I1I
Speed (kkmph) 9 8 75
Time (minutes) 50 80 100

What is the average speed of this runner ?
(a)” 817 kmph
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35.

If an arti le 1 1 ‘QOL . .
| : icle 1s sold at a gain U{.G % instead of a |39, Given that the polynomial (x? + ax + b) leaves
0ss of 6%, the seller gets T 6 more, What is the sa ymaind hen divided b
the cost price of the article ? e remainderwhen, Ghyided by (i~ 1) of
' (x+1). What are the values of a and b
(a) T 18 respectively ?
(b) =36 (a) 4andO0 '
@ &0 (c) 8and0
(d) 0 and any integer
36. A field can be reaped by 12 men or 18 women |
in 14 days. In how many days can 8 men and 40.. Tushar takes 6 hours to complete a piece of
16 women reap it ? - work, while Amar completes the same work in
(a) 26 days 10 hm{rs. If both of them work together, then
what is the time required to complete the
(b) 24 days work ? '
(c) 9days (a) 3 hours
(d) 8days (b) 3 hours 15 minuteé
e ] (e¥” 3 hours 30 minutes
37. If 3" =4 =12% then z is equal t -
: o _qu 0 (d) 3 hours 45 minutes
(a) xy
(b) x+y 141. What is the value of 2 + J2+\I2+.J.......'.. ?
) o ‘* @ 1
X+y _ __
‘. P (.b) 2
(d) 4x+3
y .. ) 3
38. If (4a + 7b) (4c — 7d) = (4a — Th) (4c + 7d), then ) 4
which one of the following is correct ?
. Jintc 42. In an examination, 52% candidates failed ir
(a) 5-a English and 42% failed in Mathematics. 1
| 17% failed in both the subjects, then wha
b 2-° - percent passed in both the subjects ?
d b
(a) 77
@ 2-9 (b) 58
- b ¢
. (c) 48
a c
Y T @&
(d) b d 23
DFGT-T-HTM (13-A)
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?

i

. 44,
in which a sum of money put out at 40%
annual compound interest will be more than
trebled ?

(a) 9
(b) 4
() 5
d 6

A man who recently died left a sum of
d among his wife, five

F 3,90,000 to be divide .
d four daughters. He directed that

jve 3 times as much as

43.

gons an
each son should rece

jves
each daughter recelve

daughter should T
+ mother receives. What was the wife’s

and that . each

eceive twice as much as

thei
share ?
(a) T 14,000
0
(b) T 12,00 e
L T 10,000
d T 9,000

What is the least number of complete years

45. A person divided a sum of ¥ 17,200 intnlthree
parté and invested at 5%, 6% and 9% per

annum simple interest. At the end of two
years, he got the same interest on each part of

(x _F),q +(y — z)3 + {z—}:}ﬂ

equal

What is
3(x —y) (y —2)(z —X)
to ?
@ 1
(b) 0
© L
3
(d) 3
If a¥ = bY = ¢ and b2 = ac, then what is
1.1 qualto?
X Z
' 1
(a) —
1
(b) - —
y
2
(c) 7
2
d --—

148. If p and q are the roots of the equation

x2~15x +r =0 and p — q = 1, then what is the

value of r ?
(a) - 55

(by56

(¢) 60
(d) 64

For the inequation x% — 7x + 12 > 0, which one

m:frney. What is the money invested at 9% ? 49. prp T
@) ¥ 3,200 (a) B<x<4
(b) - ¥ 4,000 (b) —oo<x<3only
(¢c) T 4,800 .(c) 4 <X -f': o only
(d) ?’5;000 (d) | —m{i{:} or 4 <X <o
| (15-A)

DFGT-T-HTM | |

-4
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%‘ 50. The expression 54" _ 291 haq g factor N
a:fh- o ET?:,}% @ 3 4. Consider « regular hexagon ABCDEF., Two
b W fS% a towers are situated at B and C. The angle of
' h) 7 Elﬂ:’““““ from A to the top of the tower at B is
o 17 'r'"_m » and the angle of elevation to the top of the
] Lm‘?"fﬁr at C is 45°, What 18 the ratio of the
(d) None of the above height of towers at B and C 7
(@) 1..3 °
x =10 o
61. If tanx = 1 O < X < 90° then whay ;. the (b) 1:3
value of 2 sin X cos x ? .
(e) 1:2
(a) *2'1
(d 1:2.3
. 1
7 8 , e
o J?E 55. What is the value of
tan 1°tan 2°tan 3° ... tan 89° ?
d V3 (@ 0
(b~ 1
52. What is the value of | o2
ll,' . sin 46° cos 440: + COs 46° gin 44° 9 (d) e
oT R
St ;II A " (a) sin 2°
3R e ‘@. There are two parallel streets each directed
? o North to South. A person 1n the first street
3 | (’c} 1 travelling from South to North wishes to take
-~ i g the second street which is on his right side. At
some place, he makes a'150° turn to the right
% and he travels for 15 minutes at the speed of
& . 20 km/hr. After that he takes a left turn of 60°
o | 53 Suppose 0 < 0 < 90°, then for every 0, and travels for 20 minutes at the speed of
. L6in0+1 ia greater than or squal to 30 km/hr in. order to meet the second street.
. What is the distance between the two streets ?
a) 2
| ( (2) 75km
" (b) 4sin6 (b 105 km
() 4cosH () "12-5km
d)  4tan 6 (d) 15km
DFGT-T-HTM (17-A)
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57. If 3tan 0

=cot 0 where 0<sp< T

-

is the value of g 9

T

(a)

(b)

(e~

6
T
4
T
3
T
@ =

>
y
M

58. What is the valye of sin? 950 sin2 5e 9

(a) 0

| ) 1
() 2
d 4

II_. 59. What is the valye of
/ 5m58+c0559+35m2930529-1?
(a) O |

(b) 1
. (0 2
/ | d 4

60. Consider the following for real numbers a, B,y
/' ~ and §: |

/ 1.
2'  tan B =20
3. cosec y=1/2
4. ‘cos§=2

sec o = 1/4

How many of the above statements are |

not possible ?

. Ejdal

.' (a) One -
| (b) Two
(¢) Three
(d) Four
DFGT-T-HTM (19-

A)

a1,

Consider the

following grouped frequency
distribution -

— :
0-10 8 f:}
10— 20 12 s %
20 — 30 10 s
30 — 40 p .
40 - 50 9

If the mean of the above
what is the value of p?

(a) 9
(b) 10

(y/ 11
d) 12

Consider the following frequency distribution -

1

X
8
5]
6

10
9
4

T

f
6
4
5
8
9
6
4

What is the median for the distribution ?

(a) 6
(b) 7
() 8
d 9
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43 The average

: umbers is x : Con ecutgy,
;}j :-,rlhen the next fo lfltn::” be the Ne Lﬂl-urni 67,
' Crapa
;. (in)clud:j‘i ural ny,, bers g4 1;:
b a
! ( X+ 2
(e) X+4
d  x+(x/54)
A | Consider two-digi "
| ump
B. SEIIEIE: WhEn thE digitEErS h h rEl'Ilain th.E
T AN J § pnsm?rfs' What IS the at rchange their
At B twodigit numpey verage of g
S b (a) 33
);:I--:?' & (b) 44
0 55
= @ 66
65. DiHETammatic representati
: . tion of datsg ;
which of the fnllnndng ? “ta Includes
| 1. Bar diagram
B 2 Piediagranm
B 3. Pictogram
e Select the correct answer using the code given |
~ below: - 68.
P o 1 and 2 only
(b) 2and3 only
(¢) 1and 3only
(d 1,2and3
[
66. The data collected from which one of the
following methods is not a primary data ?
(a) By direct personal interviews
(b) By indirect personal interviews
(c) By schedules sent through enumerators
| gd)/ From published thesis
21-A
FGT-T-HTM (21-A)

The

T 6,000,

monthly

expenditure of a person is

‘ L] L] L3 ~
The distribution of expenditure on
various items is as follows -

Item of expenditure Amount (in &)

1. Food

2,000
2 Clothing 660
3 Fuel and rent 1,200
4, Education 480
o Miscellaneous 1,660

If the above data is represented by a
percentage bar diagram of height 15 cm, then
what are the lengths of the two segments of
the bar diagram corresponding to education
and miscellaneous respectively ?

(@) 1-25cm and 5 em
(B 1-2 cm and 4-15 em
©" 712 cm and 3-5 cm
(d)  4-15 cm and 6 em

If the mean of m observations out of
n observations is n and the mean of remaining

- observations is m, then what is the mean of all

n observations ?

2

(a) 2m- 2
Il

- 9

(b) 2m+ =
i

, 9

(¢ m-2
Il

2

(d) m+ >
n
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|:3 I
i f - '-Whj.::h one of the
B ched 7

Fnll_uwing Pairg ;

E[il‘l'{_‘!i‘:l.l}? 72,
(a) Median
3': {h‘} Mean _'_' G]‘*H!l'liﬂﬂl iUL‘H[‘.inn
= Gl‘aphica] loces i
e (c) Geumetric Megn Op Ation
81v
(d) Mode 0 y
- give
The foll *
e o
) b lﬂwmg Pairs relate to fre
e Putlon of discrete Varigh] kA
frequenc © and jt
- 1req Y Polygon. wy, ch one o the its
pairs 1s not Correctly Matcheq 2 "owing
Base line of th
€ — X
polygon —
Ording 74.
tes of the _ lasg frequenc ’
vertices of the 108
polygon
Abs‘?lssa of the _ Class marksluf the
Vertices of the frequency
Polygon distribution
r (d)  Area of the —  Total frequency
. polygon - of the distribution
? """' : ' - 75.
A+ In a rectangle, length is three times its
breadth. If the length and the breadth of the
rectangle are increased by 30% and 10%
respectively, then its perimeter increases by
40
(@) —%
(b)  20%
) 25%
d 27% -
(23-A)
OFGT-T-HTM

{a)

(d)

What ig (he percentage decrease in the area of

A lriangle if jiq each side is halved ?
(a) 754,

(b) 509

(¢) 259

(d) No change

The volume of a spherical balloon is increased

by 700%. What is the percentage increase in
its surface area ?

(a)  300%
(b)  400%
()  450%
(d) 500%

If the lengths of two parallel chords in a circle

of radius 10 ecm are 12 cm and 16 c¢cm, then

what is the distance between these two
chords ?

lemor 7 em
(b) 2cmori14 em
() 3cmor21cem

4 cm or 28 cm

of side ‘a’ as centres, two circular arcs are
drawn within the square joining the other two
vertices, thus forming two sectors. What is the

- tommon area in these two sectors ?

(a)

9 | .
+ —
a“ (n )

2
2(1 _
() a (2 1)
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.~

% f:’ﬂlﬂ corners of ,

B 20 as to form Sidg «
' side of the Bular o e ey
. sid OCtagon o “gon, Wiy ;2 [80,
. - : at iH !.] {1
(a) a2 _ 1) b
) a(V3_q,
: a
____-—-—-_.__
V2 4 2
=
3
Sy 3 8
ﬁ \%ﬁ 8 ﬁ " Three cnnsecutivE ilite 81,
i oh gerg for
g arig t-angled triﬂngle. H n the engthg of
”31 . © 410 i
" three cﬂﬂSEcutwﬁ. int e W mg ets of sy h
IS
()  Only one ¢ Possible »
(b))  Only tw,
(¢) Only three
(d) Inﬁnjtely many

p Same Centre.
44 d th “he smalje, circle ig
“M and that of the bigger circle is.doyhle
g oo smaller one. What js tp, area between
d  these two circleg 2
- (a) 154 Square cm g0
] “(b) 308 square cm
¥ '
(c) 462 Square cm
~ d) 616 square c¢m
% '
B A rectangular red carpet of size 6 ft x 12 ft has| -
~a dark red border 6 inches wide. What is the
_ area of the dark red border ?
(@) 9 square feet
.f'-(b) 15 square feet
-:ff) 17 square feet
ft'q(d) 18 square feet
: (25-A)

i"'ll . 5

e Perimaote
lg Limag Lhe g
Otheap Sicle

rof a righll—anglmi triangle is
hortest side. If the ratio of the

| to hypotenuse is 4 : 5, then what is
the valye of k ?

(a) o
(b) g
(e) .4
d) 5
A 12 m lon

g Wire is cut into two pieces, one of
Which ig bent into a circle and the other into a

Square enclosing the circle. What 1s the radius
of the circle 9 h |

(a) __1__2_ﬁ

T+ 4

b _6

T+ 4

e _3_

' T+ 4

6

d —

T+ 2 JE

The angles of g triangle are in the ratio

L:1:4. If the perimeter of the triangle is
k times itg largest' side, then what is the value

“ofk ?

(8 1+-2
3
2

(b) 1-_2
J3
2

( 2+ —

c). 7

d 2
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pypotenuse of a right.

. angleq ...
ﬂja{;ﬂl aﬂd 1ts arep 18 24 '[31112. ?Ed Ll"lﬂ“gln is
,J’ j.ﬂg is lmlved and the 1““£¥e:~ Eiﬁe .‘le ﬂhm-mr
gi0 ew hypotenuse becomeg 18 flnublﬂd
the |
/245 cm
®
\ 255 cm
(v
J J265 cm
(C
275 cm

ﬂ. circle of radius 8 cm, AB ang A
b ords such that AB = AC _

ihe jength of chord BC ?

EII'E th

@ 246 cm
b 3,6 cm
@ 347 cm
@ 67 em

R -
l.'I

o o
R

R nsider the fﬂHDWiIlg statements :

Iu.'. it
[ HT Y
| Al °

1. An isosceles trapezium is always cyclic.

E Any cyclic parallelogram is a rectangle.

i el

Whlch of the above statements is/are correct ?

NN AR

| and

84, wal

A ladder is resting against 2 vertical If it
its bottom is 26 m away from the wall ill
slips 08 m down the wall, then its bottom :fliﬂ
move away from the wall by 1-4 m. wha

the length of the ladder ?

(@) 62m
b) 65m
(¢©) 68m
d) 75m

| h
87. Two equal circles intersect such that eac

passes through the centre of the other. If the

length of the common chord of the circles 18
104/3 cm, then what is the diameter of | the
circle ?

(a) 10cm

(b) " 15em

() 20cm

(d 30cm

88. Consider the following statements :

1.  The number of circles that can be drawn
through three non-collinear points 1s

infinity.

2. Angle formed in minor segment of a

circle is acute.

Which of the above statements is/are correct ?
(a) 1lonly

(b>" 2 only
(¢) Bothland?2

(d) Neither 1 nor 2

(27-A)
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& L35 the .
: F'p'r'iﬂﬂﬂsldm he F“”DWIH

W ## rany triangle ABG . & Ineqy
' .5"5-.‘ : )

waﬁ % ;l h 7. AC — AB < B(C
;} | a:;ff ) BC-AC<ap
™y I
(85 4B-Bc s
e
S
qr A b h of
aﬁqfq s Which of the above gpq Correct 9
-, L

.

i ‘E:-'_ é.f?;-

i
.
o o
e

' Pl ot
fa 1—1?-"‘ 5

||5'.T‘L: ﬂ.l

-ﬂIIJ
; s -
S
!
%, s

=y &
" o B

-(b) 2only
(¢) Both1and2

(d) Neither 1 nor 2

OFGT-T-HTM

alitine .
liag i res
Pegy

. i;,; Consider the following statements -

e The perimeter of a triangle is greater

than the sum of its three medians.

In any triangle ABC, if D is any point on
BC, then AB + BC + CA > 2AD.

Cirey]

cyl
th

91,

(29-A)

E““Hiﬂur

A N PR ,
Cube is inscribed in a sphere. A right

A : . i
s  eylinder is within the cube touching all the
erticg| faces, .
in \ \

der, Thejr heights are same and the diameter of
e ;

one is equal to that of the cylinder.

What is the ratio of the volume of the sphere
to that of the cone ?

the following for the next three (03)

A right circular cone is inside the

(a) 643 :1
(b) 7:2

() 343 :1
d 543 :1

92. What is the ratio of the volume of the cube to

that of the cylinder ?
(@) "4:3

(b) 21:16

() 14:11

(d) 45:32

93. Consider the following statements :

1.

The surface area of the sphere 1is
J5 times the curved surface area of the

cone.

9.  The surface area of the cube is equal to

the curved surface area of the cylinder.

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2 only

(¢) Both1land?2

(d) Neither 1 nor 2
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! #8 \BCD is a .
quadrllatﬂl‘a[ . “E. F‘!l](} cent . .
040 cm, CD = 98 . With Qg TMProid of the triangle ABC is at a

#% s a right-angle, ' PA = 15 tm =9 em, to ?ﬂnm d from the vertex A. What is d equal
Md ang),

. (

W at is the areg of tr a) 15 em
B Hangle’Apq 5 (b) 90

'f 'fﬂ) 126 cm? : cm
0 124 cem? ©  20J3 cm

f (© 122 cm? @ 3043 em

@

.
L jer the fo :
Sside” Howing o,

Consider the following for the next two (02)

suf 300 Cl:u items -
(b) 306 The sum of length, breadth and height of a
“ cuboid is 22 e¢m and the length of its diagonal is
(c) 312 em 14 em.
5%. ; (dJ 316 Emﬂ |
] 99, What is the surface area of the cuboid ?
What is the difference between perimeter of (21) 288 cm?
. triangle ABC and perj
pPerimet _
3 eter of maﬂgle ADC ? (h} 216 cmz
. (a) 4em
- 2
. (b) 5cm (c) 1l44cm
(c) 6.cm (d) Cannot be determined: due to
‘(d)  7cm insufficient data

g '
M i
- o
d '
"

o .
arems :

{Consider the following for the next two (02)

100. If S is the sum of the cubes of the &imensinns

of the cuboid and V is its volume, then what is

4 “ An equilateral triangle ABC is.inscribed in a (S — V) equal to ?
4 trcle of radius 20 V3 cm.
A (a) 572 cm?
o i h of the side of the triangle 7.
a. What is the length 0 _ | b) 728 em®
= (a) 30cm '
(b) 40cm (¢c) 1144 cm’
(c) 50cm (d) © None of the above
(d) 60cm
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